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401 AIEHIL 20| 251,800 221,584 30,216
01 A& Bl 250,000 220,000 30,000
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OAlE =l 250,000,000& *0.72% 1,800
2R = FH 55,364 110,951 A 55,587
101 @144 dl 50,534 62,101 A 11,567
4 D12t ZE2XREES 50,534 62,101 A 11,567
OatAtat EAIX 2el & drxd 43,586
—22ZA F=H 66,8003 x 10«20 13,360
-2 E2H 66,8003 x10H 15 10,020
—dEFXE &0 M=HY
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—dHFXE MO0 E=HA
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— S M= AAH 2 =H
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OHbl?l ZHAIE =8 FHI(Z=E 8)
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— A ELH 22,000& x50= *23| 2,200
HY2AHH(BELH) 222,421 170,436 51,985
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01 2= 67,945 60,928 7,017
OANZ2RY FHZ(12E) 22,666
— 6= 11,4013 x»4H «10A| 2t+ 128 5,473
— 7= 10,2993 *»4H «10A| 2t 128 4,944
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—-9= 8,35732Z «10Al 2tx 128 10,029
Oozuz=ex¢ 9,826 12 «32A1 2t 123 45,279
M4 JI2ZHZEXNSES 2,126 706 1,420
Ol -t HEER 2,126
Jle2&dtl 152,350 108,802 43,548
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20198 & =0lat LBl 928 ~ HEY
2N 2N
M ZAHE AFZ
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TAME AHE ZHI 358,726 336,779 21,947
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301 et A= 10,100 10,100 0
09 &AL HI B A S 10,100 10,100 0
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OHE=2Y XM AT S 8,000
E2H & F 38,026 38,748 ANT22
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2N 2HS
Ha: NS AR

Sl NGHL A (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 Al HIZ 201 Y| 251,800 221,584 30,216
01 A& HI 250,000 220,000 30,000
O8ect2el =2 &l (L=200m) 20,000
OE=1cl Ot & (L=200m) 30,000
O&shiel or2erd Z & (L=100m) 15,000
odarel X g8z AXI(5000A) 20,000
odg=22l =2 =IH(L=100m) 20,000
OBfaHel B2 &l (L=300m) 30,000
Oft=2c] 2wz SZI(WBE14]) 15,000
OJtAb1el S8 & Xl (L=70m) 20,000
Ogr=21el 42 &l (L=300m) 20,000
OttS1el =8 Ex(+=24x14)) 10,000
OMASEANE HES 20,000
Os2%, 2F Fl 30,000
03 A& =2 THHI 1,800 1,584 216
OFeU=SJAAY S 250,000,000& *0.72% 1,800
HY2IZH (ZAMH) 167,242 168,988 A1,746
el 2 51,029 60,985 A 9,956
oI 24| 51,029 60,985 A 9,956
101 @124l 51,029 60,985 A 9,956
01 2= 50,136 60,600 A 10,464
OAZt 22" ZHZ(10Y) 12,404
— 6= 11,4013 «4H «10A 2t + 128 5,473
—7= 10,2993 x3H x10A| 2t+ 128 3,708
— 8= 9,2463 2 »10A| 2t+ 128 2,220
- 9= 8,357& x1H «10Al 2tx 1228 1,003
Ooxzuz2e+¢ 9,826 *10H «32Al 2tx12& 37,732
04 JI2ZHHZ2XEES 893 385 508
OnE - MHEEE 893
Jl2&dl 116,213 108,003 8,210
Jl2&l 116,213 108,003 8,210
201 Let2d] 60,517 49,987 10,530
01 At 22l 38,038 30,206 7,832
OLer==ZHl SHA & 23,578
Oga ¢ 60,0003 »1H »522! 3,120
Osgtl s9AHd 8,400
OLZE H&22 =& Sl 2,940
02 =224l 22,479 19,781 2,698
03323 ¢ HA SHA(SE, ™I, 4ot
*+E232 5) 11,979
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2M: 2

M HH2IZH(2AHY)
el D2l (&)
SA - BB B () - MM - BES Ol &t o San HmEET

OAEZHl SXH SHAH L 3,500
OA83ES XHSHI(1H) 4,500
OO0lS&H XHEBI(10H) 2,500

202 oddl 40,656 40,656 0

NIERTE 7,086 7,086 0
OUFALET S U4 5,616
ONZAAHSEEZR =2 60,000& x2 =122 1,440

02 M0 33,600 33,600 0
OEHotl 200,000& x14H «x12& 33,600

203 YR =] 10,840 10, 160 680

01 JI22E 2= 6,600 6,600 0
OJI228 R =2l 6,600

02 A H R =X 640 560 80
OF AL S = A 40,000 16X 640

04 FEANSEY =L 3,600 3,000 600
ORN2EYRF=AHI 300,000& »12& 3,600

204 X2 LAY 4,200 4,200 0

NEFEEEESET 2,400 2,400 0
ORI E T Y| 2,400
-% & 150,000& 1H 128 1,800
—RHE 50,000 x 1 128 600

03 SEZRFHI 1,800 1,800 0
ONEgR2 St 100,000& 1H 128 1,200
oMt 50,0003 »1H « 128 600
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N = 0l & At & M A

201998 &= =0l &k LA S ~ HEH

2N P
HzM: 2 AP AHH|
ool GAHY A EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
=l 725,195 679,842 45,353
o e AE A 518,907 495,251 23,656
XSy A 87,525 87,383 142
=0 N 10,100 10,100 0
301 et A= 10,100 10,100 0
09 HAIAHI BEAZ 10,100 10,100 0
OHEENG & SHG & B4 2,100
OHESY NMEA =& S 8,000
cgdH sd 3| 39,362 36,952 2,410
101 Q124 H] 32,362 30,952 1,410
04 JI2ZtHIZ22NEE S 32,362 30,952 1,410
O&=zH ZEH|2| 120,000 *10H x5 x33| 18,000
o2 Jegegdzs & FHEZ EH D]
66,800& 10 x5 3,340
OM2AL SHZ U F¥ T28 2]
66,800% x5 8! 2,672
OXME=X & Mg &2 MAH 66,800 5H x5 1,670
OJdizgs & 22 X4 66,800 10 x10 6,680
201 et Y| 2,000 1,000 1,000
01 AP 22| d| 2,000 1,000 1,000
OFAN & JIESH A 2,000
206 M = Hl 5,000 5,000 0
01 M =4l 5,000 5,000 0
OJizstst & Z22XH HE P2 5,000
AgstHiied A 2,400 3,650 N 1,250
301 et A= 2,400 3,650 A 1,250
04 AIsHHMHAH XS 2,400 3,650 A 1,250
oxXsgguesd oraldl
4 ,000) 25H x23| x12& 2,400
gAAN=E 8,208 7,815 393
101 e1214| 4,008 3,615 393
04 JI2ZtHIZ22NEES 4,008 3,615 393
OdtHgA LS 66,800& 12 60 4,008
206 M = H| 4,200 4,200 0
01 X2 Hl 4,200 4,200 0
OYAANY RF SHA A 4,200
2X 32 22 11,444 12,596 A 1,152
201 et 9| 11,444 12,596 A 1,152
01 AP 2t 2] H| 2,400 3,600 A 1,200
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2N P
Ha: 2uo A
chel: =0I5eu 2SE#A =& o
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
& 2322 =M 133,054 165,594 A 32,540
101 @14 Hl 2,004 1,808 196
04 JIZHHZ2XNEE S 2,004 ,808 196
OZEc 2H=HE 224
66,8003 x 10 3 2,004
201 Let249] 56,050 63,300 AT,250
01 At 22/l 56,050 63,300 AT,250
OLecl& Xt 2,000,000& =102 X 20,000
Oo0lsztaa 550,000 *2CH 32 3,300
OHAME TFSHE Xt 30,000
OFHILR= 2,750
—Hse 550,000& x5 2,750
206 TH 2 Hl 5,000 5,000 0
01 W2l 5,000 5,000 0
OZE=Zcl 2HENE Z2ZX2H 82 S
500& 10,0002 5,000
307 gl2tol & 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
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401 Al HIZ 201 8] 20,000 45,486 A 25,486
01 A& HI 20,000 45,000 A 25,000
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201 Let249] 24,050 10,890 13,160
01 At 22l 15,950 10,890 5,060
og x =z 15,950
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S 550,000& 20 11,000
g = 550,000& 9 4,950
02 232gHl 8,100 0 8,100
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O] 20t &E 22 &4l (L=150m) 20,000
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 S3HAL FA 7,300 7,300 0
0PIt 25 s XY 6,000 6,000 0
307 212t0| ™ 6,000 6,000 0]
04 SIZ2ISHAAISHE E X 6,000 6,000 0
OXOIIteE 2ses S AKX 6,000
S23 AlA 1,300 1,300 0
301 LBt A= 1,300 1,300 0
09 HAIAHI EAZ 1,300 1,300 0
Oo£AH)| HABA(HH) 1,300
K< OH AL 273,428 260,970 12,458
A2 FFHA L 232,856 221,440 11,416
201 LBt 9H]| 1,200 0 1,200
02 22244l 1,200 0 1,200
Oz, 2 S22 100,000 * 1200 2 1,200
401 Al HI L £ 0HHI 231,656 221,440 10,216
01 Al& b 230,000 220,000 10,000
Oatdgdl Dtseot2 =& (L=100m) 30,000
Oodt< Otset2 & (L=100m) 25,000
Odt<d BH=2 &= H|(L=100m) 20,000
O&0| Otsetd ZHE (L= ) 20,000
OS0lE BH2=2 = HI(L=100m) 20,000
Og= 0ot = Z(L=100m) 20,000
OZ=2 =2 =HI(L=100m) 25,000
Oaldlel =2 Hdl(L= ) 25,000
OMHAE AL HWES 35,000
S22, 28 AU 10,000
03 AlE 201 | 1,656 1,440 216
OF0=2ANE S 230,000,000 *0.72% 1,656
MHDIIEXE 22 24 40,572 39,530 1,042
101 2121 4| 36,072 32,530 3,542
04 JIZtHIZ22XNSE S 36,072 32,530 3,542
OMYID|l 22 & =HXZ 2|
66,800& 3% 180 36,072
201 LBt Y| 4,500 4,600 A 100
01 AP 22| d| 4,500 4,600 A 100
OMHII+=H Ot ¢ 100,000& 12& 1,200
OMYIz=H & HES EEXHA HHLIZ(
Al - BHE”,E0],0H0H) 550,000 =6 3,300
AL (4 H) 231,591 215,492 16,099
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SN e

H: HH2IAH(ZEH)

el JI=23Hl

SH-EH . (BH) - NP - BHES Ol &k o San Hm=2
202 Od4dl 38,640 38,640 0
01 = LHA YI 12,240 12,240 0

OUHYREX SUHY 7,920
ONEBHSELR =N
60,000 x2H 32 «12& 4,320
02 N 26,400 26,400 0
OEHH 200,000& *11H«123 26,400
203 R =&l 10,120 10,040 80
01 J22F P2 =8| 6,600 6,600 0
OJlBedd Rz 6,600
02 A& H R =AY 520 440 80
OISR =&Y 40,000& x13H 520
04 ENSSIHRF=EHI 3,000 3,000 0
ORN2IYS =2 250,000& = 12& 3,000
204 AR A H| 4,800 4,800 0
01 ¥R A 3,000 3,000 0
OB YL ETY| 3.000
-8 150,000& x1H + 123 1,800
—2HE 50,0003 x 1Y 128 600
— Ot E=EAE 50,0003 x 18 «12& 600
03 EZ YA 1,800 1,800 0
ONSZRESH 100,000& 1H 12 1,200
oMt 50,0003 x 18 «12& 600
405 XHoHF S HI 3,250 0 3,250
01 XL 2 ZFH S| 3,250 0 3,250
O AR 1,750
—SEHAMRL 250, 000& =54 1,250
—OIOEE A 250,000& *2H 500
OZALETH 500,000& =34 1,500
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